Feb7 Warm-Up

Calculate the slope for each of the following:
X, X Vs

Y,
1. Given the coordinates (3,1), (1,4). _
M= _Ya-Y

2. Given the—equation 3y=6x+ 15
ﬂ: mMX + b
Homework Solutions

Jy= bx+E S
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Parallel Lines

Two lines are parallel if they have the
same slope.
Line 1 Line 2
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Perpendicular Lines

Two lines are perpendicular if the
product of their slopes is -1. In other
words, the slopes of the lines are
negative reciprocals of each other.

4
< , Line 1 m,;xm,=-1
v : , :
- Notice the number flipped and changed sign
Line 2 | | _
m = 2 is perpendicular to m= -1
2
Example 1

%, 9
Sho:v that the line through A(o, ﬂ and
Bg_i)/is parallel to the line through
C(I,’i) and D(2, 6).

f\= \\jﬁ/kﬁ\

m:ﬂ Wg ¥
<)‘(_;.)')(I = -4
-5-3 9~
\\O = d



Example 2

Show that the line through A(-1 , -2) and
B(-3 , -§) is perpendicular to the line

through C(1, 0) and D(4, -2).
M= !. -!| M= \5._-.5_‘
Aq-X1 1‘-"‘( )
_ (. = (‘a) -0
G OO

Example 3 o
The vertices of AABC are A(-3, 2), /\
B(2, 3) and C(3, -2). Determine whether O
AABCis a right triangle, C
(3D Xy
Mas= 32 ™M ac” ?.i: Mo * 9-H
3;.5 33
1o 72 4
B

ABLBC  h\c
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